O 45 1=0.60 400 =0.84 3 r=0.74
2 p=0.002 * p<0.0001 p<0.0001
= n=24 n=24 n=25
] g = %00 <6 3 * s
38" 85 88 T, :
oS » < 200 zZ,
O« = < *
g4 s *3 K
g ] 100 * 02 .
4 s
S of x x x . [} T T T . 0 | T T ,
0 200 400 600 800 0 200 400 600 800 200 400 600 800
Neutralization titre Neutralization titre Neutralization titre
(reciprocal of serum dilution) (reciprocal of serum dilution) (reciprocal of serum dilution)
15 =052 8 =0.32
< p=0.009 = p=0.121
2 _ n=24 5 _ =24
ax NEEe
>
zg 10 . . z8
OZ . OZ |+
2o La s
o 5 * Zo : . .
(7] w2
2 $ i S S
c c
o * H * *
¥ & ] - - T 1 0+ T T T 1
[ 200 400 600 800 0 200 400 600 800
Neutralization titre Neutralization titre

(reciprocal of serum dilution) (reciprocal of serum dilution)



